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SHE 39 3,360,000 5 2 7 93,600,000
ERE 37 3,600,000 7 0 7 95,142,857
FIEIIE] 46 3,600,000 5 1 6 138,000,000
ERE 38 3,000,000 1 3 4 142,500,000
=FEB 48 3,720,000 6 0 6 148,800,000
Ig; B 15 46 3,960,000 3 3 6 151,800,000
EEE 41 3,000,000 4 0 4 153,750,000
=i E 61 4,200,000 8 0 8 160,125,000
=2 45 3,600,000 4 1 5 162,000,000
f2HE 40 3,600,000 4 0 4 180,000,000
=58 51 3,960,000 3 2 5 201,960,000
HEE 47 3,600,000 2 2 4 211,500,000
AR E 50 3,600,000 2 2 4 225,000,000
TR 48 3,720,000 3 0 3 297,600,000
ZEE 58 4,200,000 3 1 4 304,500,000
mEE 41 3,000,000 2 0 2 307,500,000
EHE 58 3,480,000 2 1 3 336,400,000
KO E 44 3,600,000 2 0 2 396,000,000
=IFE 45 3,600,000 2 0 2 405,000,000
Wz I8 44 3,720,000 2 0 2 409,200,000
EEXIE 49 3,600,000 2 0 2 441,000,000
HEERE 50 3,600,000 1 1 2 450,000,000
LEE 66 4,200,000 3 0 3 462,000,000
TREABRT 62 6,000,000 3 1 4 465,000,000
ERE 47 3,960,000 2 0 2 465,300,000
Et Y 127 7,200,000 4 5 9 508,000,000
! 65 3,600,000 1 1 2 585,000,000
B 38 3,360,000 1 0 1 638,400,000
EEFE 92 6,000,000 2 2 4 690,000,000
BEE 94 6,000,000 4 0 4 705,000,000
! 48 3,000,000 1 0 1 720,000,000
A2 46 3,600,000 1 0 1 828,000,000
RIFE 46 3,600,000 1 0 1 828,000,000
EHE 45 3,720,000 1 0 1 837,000,000
HE)|E 107 6,360,000 4 0 4 850,650,000
BEREEE 54 3,600,000 1 0 1 972,000,000
=]t 49 4,200,000 1 0 1 1,029,000,000
E ] 53 3,960,000 1 0 1 1,049,400,000
! 56 4,200,000 1 0 1 1,176,000,000
B8 106 6,360,000 2 0 2 1,685,400,000
a2 74 5,400,000 1 0 1 1,998,000,000
12 8 88 6,000,000 1 0 1 2,640,000,000
NG 112 7,080,000 1 0 1 3,964,800,000
FEE 95 4,800,000 0 0 0 BHTEYT (BEEFIODT=-0)
ELE 40 3,600,000 0 0 0 BEHTES (BEEBODT=5H)
ZHE 104 6,000,000 0 0 0 BHTET (BEEFODT=-0)
ZREIE 44 3,600,000 0 0 0 BEHTES (BEEBODT=5H)
FEH 54 3,600,000 12 11 23 42,260,870
M= 60 4,200,000 12 2 14 90,000,000
KEETH 37 600,000 1 0 1 111,000,000
e 56 1,800,000 2 1 3 168,000,000
N 89 7,200,000 3 5 8 400,500,000
SLWV=Eh 64 4,080,000 2 1 3 435,200,000
B 52 3,600,000 2 0 2 468,000,000
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LR 68 4,800,000 3 0 3 544,000,000
e 64 4,560,000 1 1 2 729,600,000
MmETTh 69 45600000 2 0 2 786,600,000
BETh 54 3,0000000 0 1 1 810,000,000
mAR T 69 6,480,000 2 0 2 1,117,800,000
LETH 55 4,080,000 0 1 1 1,122,000,000
2HET 75 6,600,000 0 1 1 2,475,000,000
#ETH 92 6,600,0000 0 0 0 BEHTES (BEEBODT=5H)
JI & 63 5,400,000 0 0 0 BEHTES (BEEBODT=5H)
ENTH 54 1,800,0000 O 0 0 BEHTES (BEEBODF5H)
t2 k8 63 4,200,000 0 0 0 BEHTES (BEEBODT=5H)
RERE T 42 600,0000 6 1 7 18,000,000
faiaTth 50 960,000] 5 8 13 18,461,538
Koth 48 1,200,000 2 3 5 57,600,000
fgluth 46 1,560,000 0 4 4 89,700,000
sl 40 960,000 2 0 2 96,000,000
E PN 46 2,400,000 2 3 5 110,400,000
TEth 38 600,000 1 0 1 114,000,000
BB T 43 1,668,000 1 2 3 119,540,000
MHEH 42 1,200,000 1 1 2 126,000,000
BiERET 46 1,200,000 2 0 2 138,000,000
ELLth 53 1,620,000 0 3 3 143,100,000
FHEE 50 1,440,000 1 1 2 180,000,000
JI# T 40 960,000 1 0 1 192,000,000
=Bt 44 960,000 0 1 1 211,200,000
= I T 48 960,000 1 0 1 230,400,000
FFr L 40 1,200,000 0 1 1 240,000,000
WUt 45 12240000 0 1 1 275,400,000
ENGH 36 960,000 0 0 0 EHTET (BUEREHIODT-&H)
H&H&T 41 1,080,0000 0 0 0 BEHTES (BEEBODT=5H)
A 40 1,560,000 0 0 0 BHTET (BEEHOD=H)
LWhEH 40 153200000 0 0 0 BEHTES (BEEBODT=5H)
=Lt 48 1,800,0000 0 0 0 BEHTES (BEEBODT=5H)
£RM 40 2,370,000 0 0 0 BHTET (BEEHOD=H)
Is; BB 44 2.160,0000 0 0 0 BHTEYT (BEEFIODT=-0)
E¥mh 39 11640000 0 0 0 BHTET (BEEFODT=-0)
Bt 40 1,080,0000 0 0 0 BEHTES (BEEBOD=5H)
it 5 T 40 600,000 0 0 0 BEHTET (BEREHFODT=8H)
=Mt 36 8400000 O 0 0 BEHTES (BEEBODT=5H)
IEERTH 49 10200000 0 0 0 BHTET (BEEFODT=-0)
mEm 45 1,800,000 0 0 0 BHTET (BEEHOD=H)
E#Th 45 1,980,0000 0 0 0 BEHTES (BEEBODT=5H)
St 51 1,200,000 0 0 0 BEHTET (BEREHFODT=8H)
ST 44 1,080,0000 0 0 0 BEHTES (BEEBODT=5H)
ABXTH 42 600,0000 0 0 0 BEHTES (BEEBODT=5H)
RIG™H 44 8000000 0 0 0 BHTET (BEEFODT=-0)
BEATH 48 24000000 O 0 0 BEHTES (BEEBODT=5H)
BREMH 50 1,800,0000 0 0 0 BEHTES (BEEBODT=5H)
ZHm™h 40 380,0000 0O 0 0 BHTET (REEBONT=5)




